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������ �	
���, 
 

I cannot understand how the word   
�������  becomes the taṣghīr of  

�������? 
 

 ��������»���«  

  

 

 
Question 
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ÝøŠÖ]<ÜÓé×Âæ    

    

    

The noun  �����  is originally ����	
��	� on the pattern of ����
��� .  

 

Note that the plural of  �����  is  ����	
�����  like: 
 

 �������  plural of ���
��.   
 

����	
�����   is  originally  ��	
�������  .  
 

So the taṣgīr of  	��	
���   is,  
 

 ������	
��� ,  
 

 

 

but the wāw   ���	
����    is assimilated to yāʾ   	
�������    resulting in: 
 

���	
��� : 
 

����	
��	� 
 

 banaw-un                        bunayw-un                      bunayy-un 
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